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(a) Economic Analysis (Eco. Ed. 316) Elective 1
Exam 2068

Group 'A’ [20]
Which of the following s not required to draw a bucget fine for a consumer?
a) income b) price ’
c) scale of preference d) commodities

lfindiﬂerencecurveiscomavobmorigini!meansthatma marginal rate of sub situation of x for y
will : :

a) decrease 2 b) increase

¢) remain constant ; d) any of the above
lfﬂ!ohmmalasﬁciyofdernandismtorﬂnnom,ﬂnmmmdﬂyis

a) a necessity b) a luxury

<) an inferior d) a-non-related good
Stage Il of production begins when - r

a) MP of labour is maximum

b) AP of labour is maximum

c) MP and AP of labour is maximum-

d) Mp of labour is maximum but AP declining
Immash\grthmsbscahmunsilabwandcaphlamincreasedby.W%,ouipuirisu
a) equal to 10% ¢ b) less than 10%

c)more than 10% d) more or less equal fo 10%
The LAC curve falls as output increases because of

a) economies of scale ! b} diseconomies of scale

c) law of diminishing retuin d) law of increasing refturn
AR Is constant under : :
a) monopoly b) menopolistic competitions
c) perfect competition d) oligopoly '

In short—un a firm will be

a) maximizing total profit . b) minimizing total losses
c)eitheraorb d) botha andb

In the sort run, the monopolistic ]

a) breaks even : b) incurs a loss

c) makes a profit d) any of the above

If a mondpolist .

a) breaks even b} incure a loss

c) makes a profit . d) any of the above

The modern theory of interest is linked with .

a) classical view

« b) Keynesial view

c) sylﬂtesisofchssicalandkeynoshnvhw

d) all of the above :
According to modern theory of rent, the demand for land is
a) a fixed demand
b) a derived demand
€) a proportion of fixed and derived demand
d) none of the above
- Ni is found by substrating indirect business taxes from
a) NNP b) GNP
¢) GDP dj all of the above
Government's transfer payments include expenses on
a) social security " b) unemployment
c) veteran's benefit d) all of the above
As a merusr of inflation, the PCE deflactor is an alternativé to the

a) CPI : . b)PPI
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16.

17.

18.

19.

20,

Attempt ALL the questions.

10.

1.

c) GNP price deflactor d) all of the above

Classical theory denies the possibility of

a) deficiency of aggregate demand

b) the equilibrium below full employment

¢)botha and b

d) none of the above
InKaynuHMeLﬁnnﬂanpprwaﬁeemebvelumea is determined

by

a) consumption spending b) investment spending

'c) aggregate spending d) all of the above .

In consumption function, C increases in which of the following way with increase in Y?
a) less than proportion b) more than proportion

¢) equal to proportion e d) any of the above

In multiplier equation, the larger the value of MPC

a) the smaller will be the value of muitiplier

. b) the farger will be the value of multiplier

c) any of the above

d) all of the above ‘

Who used the term 'welfare' in place of 'satisfaction’

a) Pareto L b) Pigou
c) Marshall d) Robbins

Group ‘B’ [8x7=56]
Explain the properties of indifference curve.
Discuss the different types of price elasficity of demand.
Give the concept-of iso-quants.
OR -

Describe the causes pertaining 1o the U-shaped nature of average cost curves.
Write how price and output is determined under monopaly.
Explain the nature of product variation under monopolistic compatition.

OR

Discuss the difficulties that occurs in the measurement of national income.
Explain Say's law of market. z

OR :
State the relationship between consumption function and consumption spending.
Derive multiplier and indicate its applications.
Elaborate Parefian concept of welfare economics.
Group 'C’ [2x12=24]
Analyze the condition in which the firm and industry wil be equilibrium in the short period under

perfect competition,
Define and analyse the marginal productivity theory of wages.
y OR
Explain the determination of output and employment in classical theory.

Exam 2069 )
Group ‘A’ [20]
Attempt ALL the questions. Tick the best answers.
Micro economics theory is also called
a) Price theory . b) employment theory
¢) income theory d) distribution theory
Vertical demand curve shows
a) elastic demand . b) inelastic demand
c) perfectly elastic demand ~ d) perfectly inelastic demand
Indifference curve analysis was developed by
a) Alfred Marshall : b) Hicks and Allen
c) J.B. Says d) J.M. Keynes
Which of the following curve will not be U shaped?
a) Average Variable Cost (AVC) b) Average Fixed Cast (AFC)



c) Average Cost (AC) d) Marginal Cot (MC)
5. Which of the following condition is true for break-even point?
a)TR-TC b)TR<AC
c)TR>AC dTR=TC
6. Marginal revenue product (MRP) is
a) Marginal Physical product (MPP) * Price
b)Total Product x Price
c) Total Product * Price
d) Total Revenue - Total Cost
7. Product differentiation is the main feature of

a) monopoly b) perfect competition
€) monopolistic competition : d) oligopoly
8. Tha form under perfect competition in the long run will be equilibrium when
a) Price = MC = minimum AC b) Pricé = MC = AC
c) Price = SMC = SAC ' d) MR =MC
9. Which of the following is the economist propounded the innovation theory of profit is
a) Prof. J.A. Schumpeter b) Prof. Knight
c) Prof. J.B. Clark d) Prof. Hawley
10.  The modern theory of interest is also called ) .
a) determinant theory of interest b) classical theory of interest
c) loan able fund theory of interest d) liquidity preference theory of interest
11, Net national product is equal fo
a) GNP + Depreciation b} GNP + PS
-c) GNP - Depreciation d) GNP - PS
12, The market value of all final goods and service after providing depreciation is called
a) NP E ) *  b)NNP
cJGNP d) GDP .
13.  Which of the following is based on Fisher's definition of national income
a) production b) expenditure
c) income ; d) consumption
14. " Effective demand is determined Ly the equilibrium level of
a) saving and investment b) income and employment
¢) marginal propensity of consume d) marginal propensity to save
15.  Muitiplier is the reciprocal of
. a) marginal propensity of consume b) average propensity of consume
c) marginal propensity of consume b) marginal propensity to save
16.  Which of the following has a direct effect on the MEC
a) rate of interest b) investment
c) consumption ) d) saving
17.  Inflation is the state in which the value of money is falling i.e. prices are rising is the statement of
a) Keynes b) Robertson
: c) Crowther d) Golden Weiser
18.  Keynesian theory of employment is the theory of
a) unemployment b) underemployment
c) full employment d) cyclic employment
18, Which of the following is the father of welfare economics ;
a) Pigou b) Pareto
c) Robhins . d) Redar
20.  The confrast curve is also called
a) conflict curve b) indifference curve = -
c) utility possibie curve d) production possibility curve
Attempt ALL the questions.

Group ‘B [8x7=56]
1. Distinguish between micro and macroeconomics. :
2 What is the marginal rate of substitution? Discuss. -
i b Explain the measurement of elasticity of demand by point method.

OR
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What do you mean by variable and fixed cosis?
_Show the relationship betwaen average and marginal cost in short run.
Explain the concept of Isoguant. :
T OR
Explain the innovation theory of profit. s
Distinguish between gross national product and net national product.
Explain the factors, which effects consumption function.
. OR

Explain the Say's law of market.

Explain Pareto criterion of welfare economics.
. Group'C' [2x12=24)

What is the indifference curve analysis? Explain s properties.

What do you mean by monopolistic compefifion? Explain the price output determination in long run

with the help of diagram. '

- OR
What is national income? Explain the difficulties in maasuring national income.
_ : " Group"A" [20]
Attempt ALL the questions. Tick (V) the best answers
The word 'micro’ was used at first by
a.J.M. keynes b. David Ricardo
c. Ragner Frisch d. Samuelson

10.

Macro economics is concemed with

a. The level of output of goods and services
b. the general price level
¢. the growth of real output

d. all of the above .

If the i\oomealasticiyofdemandismmanone,mecommdﬂyis
a, a necessity b. a luxury i
¢. an inferior d. a non related

The statement C = D = 10 utils implies

a. an ordinal measure of utlity only

b. an cardinal measure of ufility only.

c. anordinalandacardhalmeasureuf[rﬁ&]ow

d. none of the above

At a point of producer equilbrium . "

T a maisomantislangemmmeisooosi

b. MRTSw=P./Px
c. MP./PL=MPx/Px
d. all of the above

MC is given by
a. the slope of TFC curve b. the slope of AFC curve
c. the slope of TC curve d. the slope of short run cost curves

Which of the following is the equﬂhhmwﬂﬁonofpeﬂacﬂywmpeﬁveftmmhﬂisw?
a. P=MR=SMC=LML ) :
b. P=MR=SAC=LAC

¢. P=MR = lowest point on the LAC curve

d. allof the above ,

When demand curve of monopoly is elastic, MR is

a.1b.0 '

c. positive ’ d. negative

Which of the following factors do not have marginal product?

a. fixed factors . b. variable factors

c. constant factors d. all of the above
Modern theory of interest is related with .
a. saving and investment b. liquidity preference
¢. IS - CM approach d. lonable fund theoty
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1.

20

Which of the following methods is appmpnah to estimate nationatincome cormecty?

a. income approach b. expenditure approach
c. product approach " d. all of the above :
12, Inflation is defined as -
a. persistent rise in price level b. fluctuation in price level
c. decline in price level d. constant in price level
13, Inthe Keynesian theory of employment, which of the following plays crucial role?
a, aggregate supply function b. aggregate demand function
c. demand and supply function d. all of the above
14.  The equation C = 20 + 0.90 Yd predicts that consumption is
a, 90 when Yd = 100 b. 100 when Yd = 80
c¢. 110 when Yd = 100 d. 180 when Yd = 200
15.  When MPS =0, then multiplier is
al ‘ b. /2
c.1 d.<
16.  Autonomous investment is
a. independent of the level of income
b. determined by exogenous factors
¢. income inelastic
d.. all of the above
17.  MEC is defined as
a. highes* rate of refurn expected from an additional unit of a capital asset over its cost
b. lowest rate of refumn expected from an additional unit of 2 capital asset over its cost. -
¢. medium rate of return expected from an additional unit of = capital assetovurbcost.
d.. none of the above .
18.  Which of the following is the relationship between multiplier and MPC?
a.Y=C+8 b.Y=C+1
e.Y=§5+1 d.Y=C+S+1
18, Indeveloping couniries like Nepal, the value of MPC is _
a, higher b. lower
c. unity d.zero
In the classical theory of employment changes in money wages and real wages are
a, directly refated but not proportionately
b. directly related and proportionately
¢. Indirectly related and proportionately
d. inversely related and proportionatsly
Attempt ALL the questions. -
Group "B" [8 % 7 =56]
1. Define micro and macro economics. what are the limitations of micro and macro economics? -
2. Whatis meant by marginal rate of subsfitution? Explain it with help of diagram.
3 Distinguish between explicit cost and implicit cost with suitable examplu
OR
State the relationship between AC and MC.
4. Explain the equilibrium of firm by marginal cost approach.
5, How does innovation creates profit?
OR
) Define national income. How is it measured through expenditure approach? :
6.  Whatls meant by inflation? Explain the effects of inflation on consumers’ and producers,
T What is meant by investment in econemics? Explain the factors that affect investment,
OR
* What are the properties of consumption function? Explain,
8. Explain psyehoiogical law of consumption.
i Group "C" [2x12=24]
9. Explain law of variable proportions. in what staga a rational producer produces? Explain.
10. How are the price and output determined under monopolistic compctiion in the short run?

OR
Crlﬁ:aﬂy examine the clml:al uuory of output and employment.
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Exam 2071

Group "A" 20

Attempt ALL the questions. Tick (V) the best answers.

Macroeconomic variables refers to

a. individual variables 2 b. aggregate variables

c. unit variables d. all of the above

The meaning of the word 'economic’ is most closely related with the word

a. free b. scarce

¢. unlimited d. unrestricted

I the quantity of a commodity demanded: remains unchanged as its price changes, the coefficient of

price elasticity of demand is ;

a. zero b. smaller than one

¢. equal fo one d. greater than one

10.

1.

12.

13,

14,

18.

16,

A consumer who is below the personal budget fine, it indicates
a. - is ot spending all personal income

b. is spending all personal income

c. may or may notbe spending all personal income

d. isin gquiibrium
When the TP falls :
a. the AP is zero b. the MPy is zero
¢. the APy is negative d. the AP, is declining
thhofmefolwwcumisofrechnwh;hyperbola?
a.AFC : g b.AVC
c.AC d. TVC
Thobastlevalofouﬂﬂforapeﬂwﬂyoompaﬁﬂuﬁmsghmhyﬁwpomwhm
a.MR=AC : b, MR=MC
¢. MR exceeds MC by greatest amount
d. MR equals MC and MC is rising
|nhshoﬂ-mn.uwmmpowwilbok\
a. breakeven b. loss
¢. profit d. all of the above
I!supp!ynspaﬁed!ymehshc,alpayment;s
a. opportunity cost b. economic rent
c. transfer earning d. quasi rent
Innovation theory was propounded by .
a. Schumpeter b. Hawley
c.Clakk - d. Knight
NNP is defined as : :
a. GNP + depreciation b. GDP + depreciation
a, GDP - depreciation d. GNP - depreciation
Classical theory assumes
a. full employment . b. under full employment
c. partial employment d. unemployment
Keyzmlanﬂmrynﬁncomandmphymnﬂsbasadonma f
* a.aggregate demand b. aggregate supply
¢, effective demand : d. composite demand
In the eguaion ¢ = ¢~ *+.¢€ Yd, the behavioural coefficient s
a.c— 3 b. Yd
c.c. : d. all of the above
Simple muliiplier (k) is defined by the formula, :
a.k=-1~:1—m; b.k=i—__lm"":‘s
1 ¥ o1
o-k=T_APS 4k=TAPC

Which of the following statement is not true?
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1.
18.

20,

a. mpc + mps =1 b.
c.mpc—1-mps d. mps = 1-mpc
Autonomous investment is

a, not profit motivated . profit motivated
c. neutral regarding profit d. all of the above
If MPC = 112, then the value of simple multiplier will be

a0 ' b.1

c.2 d.3
Investment in economics refers to

a. buying share d. buying securities
c. real investment d. all of the above
Classical theory believes in

o

" a, long-run economic activities b. short-run economic activities

¢. mid-term economic activities d.markotpﬂiodo_oommacﬂvﬁas

Full Marks: 100 ' ) Time: 3 hrs,
Attempt ALL the questions.

1.
2
3.

o

Attem,
1
2,

3.
4,

i : . - Group"B" ' 8x7=56
Define macroeconemics. Explain its different fypes.
Deﬁneﬂhsﬁclyofdlmd.Whatmilsdehtmham? :
What are the causes of ‘U’ shaped short-run average cost curves? Explain,

OR

Distinguish between TR, AR and MR with example,
Define monopoly market. How can price-not determine under it?
Explain dynamic theory of profit

OR
Define national income, How is it measured by income approach?
Explain the Keynesian psychological law of .
Exphhﬁemmmwmﬂuhebdhﬂmmam.
OR
Exphhhameamtnraiuimmmﬁnm
Define investment multiplier, Explain that investmant multiplier varies with the change in MPC,
Group "C” 2212=24
Define indifference curve, What are its properties?
How are price and output determined undorperhdlywmpﬂﬁnmmhﬂwshoﬂ-nm?amhh
OR

Explain the moder theory of rent :
(b) Nep. Eco. & Quantitative Tachnliues iEco. Ed. 317) Elective Group B

Group "A" 2

Pt All the questions, Tick (V) the best answer,

During FY 2007/08, Nepal's GDP at the base prices expanded by o A
(a) 4.6 percent (b) 5.6 percent (c) 6.6 percent (d) 3.6 percents
According to NLSS If, the average national poverty line is equal to Rs,

(a) 7666 . {b) 7676 {c) 7686 ~ (d) 7698
ﬂ»evaheofcinlcoomdommm fo NLSS If is .

(a) ;.:4 - (b) 0.31 (c) 0.34 (d) 0.41

Which of the bwhgismoainufigljbtﬂnmmn?

(a) Commercialization of agriculture

(b) Raising high value products

(¢) Increasing employment opportunities

(d) Al of the above :

Of the total agricultural credit disbursed, the highest disbursement is on

(a) Agri-industries, marketing and godowns

(b) Food grains and cash crops

(¢) Agri tools and imigation
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“10.
.

12
13,
14,
15.
16.
17.
18.

19.
20.

(d) Agri-business ‘ o
Thepnmuﬂagoﬂaredlndiahﬂwbhlfm‘wkadeefNepui.duhgﬂnlastfnyem?

(a) Has increased sharply {b) Has decreased sharply

(c) Has remained aimost constant {d) Has remained absolutely constant:
Which of the following bank is authorized to take decision on money supply?

(a) Development bank {b) Central bank

(c) Commercial bank (d) Rural bank

The function of central ban excludes

(a) Printing money () Control credit
(c) Creation of credit (d) Government's advisor

- Diversification of frade refers to
(a) Commedity of diversification {b) Country diversification
(c)AandB ‘ (d) none of the above
In which of the following year Nepal joint WTO
(a) 2002 (b) 2004 {c) 2001 (d) 2006

wmummrgwhmmwmmmm
(a) Arithmetic mean  (b) Median

(a) Mean (b} Median {mfc} Mode (d) Range
(a) Range (b) Mode (c) Median (d) Mean

(a) Mean (o) Standard deviation () Mode © (d) Median
rnmhupnmmcbm.uhmmms :

(a)2 (b) 4 ()6
If total revenua is geiven by the eqnﬁon:Rﬁpz,waIIbihmarghalmwm?
(a) 5p (b) 2.5p
(c) 10p id) 10
& Group "B" Bx7=56

Attempt Al the questions.

1.
2.

.

o W
g

» [ Marks: 20 25 | 40 50 80 65
No. of students 3 4 | 7 2 5 5

Eprhdomog’nphbfomdﬂepdm.com
:gﬁ:mnmmdw.bpmmmhhmdmmmmmmmh
epal.
mwmmummhmwwmmnm
these problems. ‘ ’ .

OR
the need of food and nutrition to increase labour productivity.
mmmmmmm& :

Explain the strategies of the curent -years interim plan.
What is statistics? Explain the importance of statistics.

Finnd the mode from the : ;

Marks: 0-10 10-20 i 20-30 | 30-40 [ 20-50-_ | 50-80 |
[No.ofstudents | 4 2 1 18- | 20 ST A R
Calculate the variance from the following data:




8. fA={1,2,3,4,5,B=(3 4,58, ThandC =(5, 6,7, 8, 9} find
) A8 (i) BC (0 A~8rs

Dﬂfmnhabﬂ!efommmbonamalsoiﬁmtoﬂnrewlobtamdbydﬁmr&aﬁomY-x’-&x’
Group "C" 2x12=24

9. Define poverty. Exphlnﬂuamntofpovsrly Suggest measures to overcome poverty in Nepal.

10. F'ndiheregnss»nof‘Yoanromﬂwhl:whgdataandobtammwaheoiYwhanxa10

1512 4 5 -]

Y: 9] 10 12 16 [ 14 1 15

OR
Compute Karl Pearson comelation coeficient.
X: 2|3

: 415 Js
o BT I Y [ T B .
: Exam 2069
Group 'A’ [20]
Attempt ALL the questions, Tick the best answers,
Which of the following is the demographic indicator?

a) mass poverty b) per capitai income
c) fertility b) education

2. According to census 2011, Nepal's population growth rate per year is
a) 1.35% b) 2.1%
c) 2.35% d) 1.75%

3 Which of the following is the major objectives of current interim plan?
a) poverty reduction b) maintain sustainable peace
c) inciusive development d) ali of the abave

4. According to NLSS-Iil the percentage of population below poverty fine in Nepal is

a)25.2 b)21.0
c)42.0 d) 215

5. Gini coefficient is used to measure the
a) poverty . b)inequality
c) unemployment d) ali of the above

8. Which of the following bank creates credit?
a) agricultural development bank b) central bank

= ¢) commercial bank d) tourism bank

o One year after another, the trade deficit of Nepalis
a) decreasing b) increasing
c) constant d) all of the abova

8.  'Human Development Index’ excludes
a) life expectancy . b) incoms

c) education d) fertility
9. According to Nepal labour force survey 2008, ﬂhmmbwo!pahﬂhpbymu:pﬂuﬁdw
employed is

a) 14.9. b) 15.8
c) 169 d)17.8
10. * Nepal Rastra Bank was established in 5.5,
a) 2012 b) 2013
c) 2014 > d) 2015
1. Inindividual series, the frequency of sach variate value is
a)One . bj same
c) different d) none of the above
12. thhdhbhwkghﬂnbostmuidbpm?
a)arithmetic b) geometrical mean
¢) mode d) median
13, Which of the following is the best measures of dispersion?
a) standard deviation . d) mean deviation

- c) quartile deviation d) range
14. K the value of correlation coesfficient is zero, It means that two variables are
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a) highly comelated b) not correlated

c) less correlated dj all of the aboce
15.  Inthe regression equation: y = a + bx, the coefficient b’ represents
a) slope ) b) intercept
c) height ; * d)coordinate
16.  Which of the following is called the barometer of the economy?
a) correlation b) regression
¢} index number d) set theory
17.  Factory reversal test was suggested by
a) Paasche * b Fisher
c) Marshall b) Dorbish-Bowley
18.  What is the value of C(3, 2)?
a)1 b) 2-
c)3 : d)4
18.  Find the value of f 15x2
a) 5x - b) 5x2
c) ¢ d) 5x¢
20.  Numbers aranged in a systematic way within rectangular amay is
a) set theory b) probability
¢) matrix . d) caleulus
Attempt ALL the questions. )
. Group ‘B’ . [8x7=56]
1. Describe the constraints of economic development of Nepalese economy.
2. What is meant by poverly? What are the remedies to remove poverty in Nepal?
OR i -
Explain the role of water resources in economic development of Nepal.
3. Define cooperative. Expldin the need of 8ooperative in agricultural development of Nepal.
4.

Define forelgn trade. Explain the composition and direction of foreign trade of Nepal.

OR *
Exphhhambdmn-govmﬂmnhaﬁomhnnldwehmﬂdmpd
Disﬁwkhbeﬂmsﬁmwﬁnmanqndmo&m.%ﬂwﬂmm«hﬁsﬂmw&:mnn?

OR
Explain the merits and demerits of arithmetic mean.

What are partion values? Explain them.

Calculate Q1, D3 and Pas from the following data:

Marks: D-50  50-100 [100-150 [150-200 00 B00-350 B50-400
No.of students 5 fi0 15 R0 5 20 t5

20 students phyﬁooﬂ:alandﬁmmplayvokybal.hhhmdmwmphybdh
games. Find the number of students playing at least one game.

_ Group 'C' [2x12=24)
EmhhhmhofﬂepalRashBaﬂhﬂnmﬂcdwohpmﬂdeL :
Usl data, calculate two ssion equations:

g 8 B5s W2 B0
M: B0 B5S W0 B6 o

OR
cmnmmmmmummmmmwmwmmnmmm
using A.M and G.M.

ommodities: A B g . D E F
ase year price: B 2 - 15 B0 2 30
urrent year price: o 15 o P B0 B
Exam 2070
Group "A" 20

Attempt all the questions. Tick () the best answer.

1.

Which of the following sector is the backbone of the Nepalese economy?
(a) Agriculture (b) Incustry ~ (¢) Tourism (d) Trade
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18.

According fo the census 2011, Nepal's population growth rate per year is
(a) 1.35% (b) 2.1% . (c) 2.24% (d) 3.1%
3. The largest source of energy, in Nepal, is supplied by
(a) Electicity {b) Petroleum product {c) Coal (d) Firewood
4, According 5to NLSS-lll what is the percentage of the population living below the poverty line in
Nepal. -
(a)25.2 . (b) 31.0 (c) 42.0 (d) 16.5
5. Gini coefficient ss used fo measure the
(a) Poverty (b) Unemployment  (c) Inequality (d) aliot the above
6. Which of the following bank is advisor of government?
(a) Nepal Bank Limited () Nepal Rastra Bank
(¢) Rastriya Banijya Bank {d) Agricultural Development Bank
7. Nepal's foreign trade has
(a) Surplus (b) Deficit (c) Balance - (d) none of the above
8. Which of the following sector has provide employment to greater extent
(a) Agriculture {b) Industry {c) Tourism {d) Trade
9, Whichofﬂwhbwiqisthemajorhnofwmupomdﬂlpm
) (a) Readymade garment {b) Pulses
(c) Leather {d) Ghee L
10.  Which of the following years Nepal joined to WTO?
(a) 2002 (b) 2003 (c) 2004 (d) 2005
11, W the variable values are: 1, 2, 3, 4, 5 withunit frequency then the series is
- (a) Individual (b) Discrete (c) Continuous (d) Time series
12.  The modem value of the series .
(a) Median (b) 2~ quartile (c) 50t percentile (d) all of the above
13. Deciles divide the given series info equal parts J
(a) 2 )4 @0 (d) 100
14, Which of the following is the method of measuring correlation?
(a) Venn diagram  (b) Scatter diagram )
(c) Bar diagram (d) Kari Pearson's diagram
15.  In the regression equation: Y =a+bx, 'arepresents
(a) Slope {b) Height (c} Intercept {d) Corrdinates
16. Y =f{x) = ais a type of the functions of calculus
{a) Exponential (b) Linear - (c) Constant (d) Polynomial
17. Which of the following index considers base year quantity as weight? ’
(a) Paasche index  (b) Laspeyre index
(c} Fisher index . (d) none of them
18.  What is the value of C{10, 6)?
(a) 120 (b) 240 (c) 210 (d) 190
If the sum of 'n’ observafions is 560 and their mean is 8, then the vakue of n is
(a) 50 (b} 60 () 70 (d) 80
20.  Disjoint sets are related to
(a) Common elements (b} No common elements
{c) Equal elements (d) Finite number of slements
Group "B" 8x7=56
Attempt All the questions.
1. Domhhmb-aﬁrﬂdmhisﬁuofﬂapﬂuemm. :
2, mmmmmmmmmmmmummwhm
‘ OR
Explain the role of forest resources in economic development in Neapl,
3. WhnhmuMEylMﬂﬁnm?EmhhﬂwdﬁmmmofWrﬂﬁmthm
4. Explain tha role of Nepal Rasira Bank in economic development of Nepal,
OR
Describe the importance of commercial ban In economic development of Nepal,

Stattﬂwmanhgothdoxmm:«.Exphinmepmbhmofuhhﬁgmm«.
OR
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: Expiahmamritsanddemecitsofariﬂmwticmaan.
B. Calcu!atemeum&manmhfom:hh

Mark 0-50 50-100] 100-150 | 150-200 250-300 | 350-400 | 450-500
No. of Students 5 10 15 20 25 10 15 -
1. Calculate simple index number from the following data:
. Price
Commodities Base year Current year
A 10 15
B A
C 12 20
D 15 25
E. . 8 30
S in different ypes of sets.
Group"C" 2%12=24

8. Exphhﬂwpmbhmarﬂmqmtsdwmmasmmpal.
10.  Find out the Karl Pearson's coefficient of correlation from the following data:

X: 3 [ 8 10 12 16 12 10 [ [
Y: 4 3 2 5 8 8 4 3 2 4
OR - “
Calculate the noquﬁonoqunYandeXfrmﬂwbahwgivmm:
X: |5 |6 |7 10_[ 12 | - '
Y: [ 4 5 8 8 0 |1
Exam 2071
- ' - Group "A" 20
Atiempt ALL the questions. Tick () the best answers.
1. The economic characteristics of Nepalese economy is
a. lack of technological research b. low per capita income
c. political instability : d. lack of diversity
2 Thnnmalgwﬂimuolpopuhﬂoﬁhﬂuﬁd.apvmlmsacmh
a, 1.35 percent - b.1.25 percent :
: c. 2,25 percent d. 2,35 percent
3. thhdﬂubmmmNnIﬂthhGnP?
: a. industry b. tourism
¢ agriculture 5 d. service .
4  Which of the following  bank is authorized  to - credit  creation?
a, commercial bank b. universal bank .
¢. cenfral bank d. development bank
g8 thhdﬂnbhwi\gm&emolm&m?
a. high population growth rate b. high demand of raw material
¢. lack of alternative source of energy : d. all of the above
6. Which of the following indusiries provide large number of employment opporbunities?
a, small and coltage industry b. large scale industry
¢, medium scale industry - d. service industry
T. thho!ﬂuiolumgamhasahighraeofunmmhwmm
a, urban area b, rural area
¢, semi-urban area d. all of the above
8. Whidmﬂhcfom\gisﬁnmhlumofwmummﬂ
a. leathers : b. pulses
¢. readymade garment d. rice
9, Whnpmmdwmlmdhuﬂlﬂmw
a. 40 percent b. 45 percent
c. 50 percent . d.55percent
10. In which following of the years Nepal join WTO?
a,2001 b.2002

¢. 2003 d. 2004
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11. Themodoo{netofscorosil,?,5,10.8,12,13.1Sisequalb
a. 10 b8
c. 13 d. 16
12.  Root mean squared deviation is called
a. variance b. mean deviation
- . standard deviation d. mean
13. How many possible outcomes are there in a single throw of two dice?
a. 1/36 : b.36
1l . d.2
14, Which of the following is used for the measuring production of economy?
a, price index . - b. value index
. €. quantity index d. qualify index
15. Which of the following is the formula of circular permutation?
| I::——----'“l
a.{"-’1} .pta!rl )
-1
c.nl d.m',;lﬂ-'
16. A matrix have m rows and n columns is called )
a. m % n matrix E b. n * m matrix
c.%"mahix d. m + n matrix
17. Whatis the derivative of y = x3 + 2x2
a. 3x? + 4x b.x? + 2x
3 2
c. 3+ d’-‘;}"}
18.  Who used factor reversal test to measure index number?
a. Marshall - edgeworth b. Laspeyre
c. Paasche - d. Fisher
19.  The setdenoted by U is
a. sub set b. universal set
" c. efmpty set d. null set
: 52 20
20. HA:[S 7:IandB=[1 4:ll:hemﬂ.-!-Bism:!m!llm
[7 2] i b[s 2]
“La 1 ‘L2ds

54]
78

; Group “B"
1. Emhinﬂaooonshinbofeoommvehpmmofﬂepal. :
2, What are the problems of agricuftural marketing in Nepal?
OR
What are the role of forest resource and bio-diversity in economic development of Nepal?
3 Explain the pattern of agricultural land helding in Nepal.
4. Explain the role of foreign aids in economic development of Nepal.
. OR

Explain the objectives, sirategies and priorities of current plan in Nepal, -
5. Calculate arithmetic mean from following data:

[e2] =
“ls 2]

Full Marks: 100 5
Attempt ALL the questions,

* Time: 3 hrs.

B8x7=56

Marks : 5-10 10-15 15-20 | 20-25 |25-30
No. of students 2 3 L] 21 15
6. Explain briefly the various problems of index number construction,
OR
Define set. Explain briefly the types of sets. =
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A bag contains 5 green and 7 red balls, two balls are drawn. What s the probabilty that () both are
red (ii) both are green?
Ifmetotalwstisc=1+20+3Q‘.where0ismeoutwf,ﬁndMaveragacostaMmugimlmst
whenQ=5.

Group "C” 2x12=24
9. Explain briefly the problems and prospects of rural development of Nepal.
10.  Find Karl Peasuﬁsmmhﬁonmﬂnieﬁbemnprhoandupplyofmmﬁymma
following data :
Price . |1 2 3 4 5
Supply 2 B 4 3 5
. OR
Compute regression equation of y on x and x on y from the following data :
X 16 10 7 4 - 3 2
Y 90 72 54 42 30 12
(c) Economics of Development & Education (Eco. Ed. 322) Interdisciplinary
Exam 2068
Group'A' ° ' [20]
Attempt ALL the questions. '
Tick the best answers.
1.  Economic development s primarily related with - i
a) developed countries b) developing countries
¢) advanced countries d) all of the above
2., The basic need approach directly focuses on
a) absohute poor b) relative poor
c) marginal poor - . d) none of the above
3. The Human Development index (HDI) was introduced by
a) United Nations Development Programme (UNDP)
b) World Bank (WE)
¢) International Monetary Fund (IMF)
d) Asian Development Bank (ADB)
4. According to 2001 census, the TFR in Nepal is
a)4.5 b)4.2
c)4.0 d) 18
5.  Economic policy that gives importance on domestic base is called
a) capital formation b) structural change indigenous .
c) indigenous base d) exogenous base
.  Third world countries are poor because of
a) low saving . b) high consumption
¢) low technology : d) vicious circle of poverty
1. InLewismoorywagaratehmra!secbrisdel«mhedby
a) average product of labour b) marginal product of labour -
c) govemment policy d) cost of production
8.  Gimi coefficient measures
a) incidence of poverty b) extent of unemployment
: ¢) standard of living d) income inequality
9.  The apex institution of plain formulation is
a) Central Bank - b) National Planning Commission
¢) Ministry of Financa d) Government of Nepal
10. Backwardlrkageeﬁactsamageimshnﬁhﬂtefnbwi\gshgwfprodﬂon
a) earlier b) subsequent
c) upward d) downward
1. Whousemgwold'emmnﬁuufaducaﬂon'atﬁ'st L
a) Nurkse - ¢ b) Scultz
c) Kuznets d) Lewis
12.  Education is the type of good .

122



a) non-tradable 2 b) completely tradable

c) partially tradable d) marginally tradable
13 Opportunity cost in education implies

a) income sacrificed while studying education

b) cost incurred in order to obtain education
c) government expenditure in education -
- . d) family expenditure in education

14. " Promotion rate of student is measured under

. a) intemal efficiency b) external efficiency
c) educational efficiency d} financial efficiency

15, Which of the following can exceed low percent
a) NER j b) GER :
c) ASER d) Al of the above

16.  Apparent intake rate is measured on
a) higher level b) secondary level
c) primary level d) class one

17.  The National Education System Plan (NESP) of Nepal was infroduced in the year
a) 1961 b) 1871
c) 1981 d) 1991

18. . Which of the following is a prominent factor responsible for eaming variation?
a) educational attainment b} intelligence
c) family background - d) native ahility

19.  Which is the main problem of school finance in Nepal?

a)!ackofeamnarkedﬁmdinghrbacharssalary

b) lack of funding for quality input

c) lack of foreign aid

d) lack of effective administration
20.-  The first effort made in educ tional planning in Nepal was made in

a) 1954 ; b) 1956

<) 1961 d) 1971 : _
Attempt ALL the questions .

- Group ‘B’ [Bx7=56)
1. How does high rate of population growth affect economic development?
OR

What are the characteristics of Rostow's stage of Take-off.
2. Briefly explain the economic characteristics of developing countries,
] od?

‘ ‘ OR
Define unemployment. How can it be removed?
Give your arguments in favor of labour intensive technique in the context of Nepal,
What are the problems of human resource development in Nepal? Discuss
. CR ‘
What is meant by cohort analysis? Explain, .
Distinguish between gross and net enroflment, .
.Describe the components of educational planning.
Distinguish between educational grants and education loan,
: Group 'C* 2x12=24
9. Criﬁcalyexaminﬂntewismeoryofumsmpieslam. :
Ol

R

What is meant by capital output ratio? Explain its determinants,

10. Examine the role of education in social develonme ;
Exam 2069

o

SN

Group ‘A’ [20]
1. thhofhefohwhgbmemhobshqbsbmmbdevebpmemddwubpi\gmmﬂ ‘
a) vicious circle of poverty b) low level of education
c) low level of production d) lack of overhead capital

2. Which of the following features is not the associate with the developing countries? .
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10.

.

12

13.

14,

15.

165

17.

a) high birth rate b) high mortality rate
¢) high economically active population

d) high migration

Classical theory of the economic development ignore the

a) high economic class b) producers class

c) business class d) middle class people

Which of the following value is the difference between the value of wages which a labour produces
and which be actually receives? :

- a) wages value b) surplus value
c) income paverty ) collective poverly
Fulfillment of basic needs is related to ;
a) relative poverty b) absolute poverty

.0 subjective poverty d) collective poverty
Which of the following is negative effect of urbanization?
a) increase in unemployment - b)inadequacyofsoclalsawicas
c) increase in social crime d]dirﬂs!hgofqnﬂlydih
Whir.hofﬂnfoiwimisbwkbonedcapitalhmaﬁon?
a) income b) saving
c) investment ) d) financial institutions
mimm“mmdmnmmmwwmmsrmm
a) KW.Kapp b) Cooly
¢ Etwood d) Bogardus
Awordinghﬂmtse,howhbmkmovidahc‘:phdpwem
a) increase in employment b) increase in productivify -
c) increase in income * d) increase in saving
Unbahncagrwh&mryofacomhdwabpmmadwmdby
a) Rodan : b) Nurkse
c) Lewis d) Hirschman
Emmbdﬂnaﬁnhmcemdwﬂ\
a) social welfare b) material welfare
¢) economic welfare d) human welfare
Whichofmefohﬁsgmﬁonkcnladmﬁnmoigamudmcaﬁon?
a)primryodm:m b}:ononuyaducaﬁon
¢) higher education d) all of the above
mmwwmmmmmsmmwmmmmmmmm
a) industry b) education

c) agriculture ) d) infrasfructure
Whatisﬂ\om:jorpmbienﬁofmamhmmﬁonandmmm
a) lack of national philosophy of education i

b) lack of uncapable human resources

c) lack of foreign infervention .d)lacko!bwutﬁydmﬂmalmsmm.
Persma!servicasandcowumbhsuppiasmataremadupMonaMywisuled
a) capital cost b) current cost .

c) direct cost d) indirect cost
Mmmdmmmﬂm

a) highiinput-output ratio b) high examination scores

c) high private rate of return d)specialyadnhishredhsi
Taachwptlhicmtiocahnhudby

_bﬁlmnberofp_up_isatagg' en number
a) TPR = "{otal number of teaching at same level

_ lotal number of teachers at a given number
b) TPR =~ 5tal number of student at a same level
total number of ata grade 1 [
¢), TPR =gzt number of teacher at same grade
__tn!almnimofhnhmat‘a 1
d) TPR ={otal number of pupils at same grade
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18. mmdmhthMmmhMWaamm
of the fofal population of the sama age group that is called -

a) gross enroliment rate b) net enroliment rate
c) grade prometion rate . . d) grade repeated rate :
18.  Which education commission recommended the one language policy as the medium of instruction
all of the above over the Nepal? ! ; :
a) NNEPC 1954 b) ARNEC 1961
c) NESP 1972 7 b) NEC 1982

20.  The voucher scheme would
. a) remove the inequality of paying for education fwice
' b) promote educational innovation "

c) create a wider variety of educational institutions

d) all of the above
Attempt ALL the questions. ] .
: . Group 'B' h [Bx7=56]
1. Exphhﬂnobmnlsdphysbalqmﬁyofifﬂihxddwsbpum :
2. Describe the Marxian view of capital formation,

OR ;

Describe the features of Rostow's take-off stage of economic growth,
Exphhﬂnmhofmhabhdovebpmerﬁuocomdwubmmt J
Descrboﬂnnegaﬂwnpeebddepmdamyonmmaldsbrmmmdmhs.
Explain the relationship between economics and econemics of education. .

- OR
Exphinﬁmmomhsoheﬁnprubhnofhmrmmdwmm
Exanha'ﬂnpmblenuofmismahhbam.nmmmdmbpunm.
Dmmmemmlmmmmdwm
Desﬂahemmadmmuondﬁlumhm
; Group‘C’ : - [2%12=24)
9, mhpmwﬁmwmﬂwmmmm.
10. Explain the economic value of private and social gains of education.
o]

R
Explain the major recommendation of national plan,

Group "A" ‘ 20
Attempt all the questions. Tick (V) the best answer,
1. Thovhbusckcloarmmorﬂpomwﬂwmmﬂonbmm ;
ﬁ Income and population {b) investment and technology
c) Productivity and income 7 saving ang capital
2. Development is impossible without (d? =
(a) Incentive to profit (b) Foreign aid )
(c) Domestic saving {d) Inflation ‘
3 mu«mnmsmmmugadammdmm?
(a) Pre-take off : (b) Take off
(c) Derive to maturity (d) Age of high mass cons \ :
4, TobmkﬂlevicbmcmoofpwoﬂyonﬂsgdmmmofnpmRnganmksahaspludadfar
(a) Balance growth  (b) Unbalance growth
(c) Agriculture growth (d) Industrial growth
5. thlwfﬂnhbwiuismimhmntoﬂkcﬂplny?'
(a) Income tax (b) Public borwoing (c) Deficit financing (d) all of the above
i than capitakintensive i

ol o

2,

6 Labour- intensive techniques are more favourable techniques for
(a) Econemics of scale {b) Efficiency enhancement )
(c) Employment promotion ; (d) all of the above ]

7. Thleomoptofﬂnphsvalnwuiﬁudtmby
() Karl Marx (b) Keynes (c) Arther Lewis (d) Nurkse

8. Whichofﬂn!olowhgisﬂwobheﬂvenfmodmw =

(a) To raise living standard of people
{b) To reduce poverty
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_ {c) to enhance economic development
(d) all of the above 3
9, Whatkhemahnasondfbwdmmsﬁcsavhgshdwebpiﬂmvﬁbs?
(a) Mass poverty  (b) Low income (c) Hith propensity to consume

(d) all of the above

10. The head-count index of poverty shows
(a) Incidence of poverty {b) Depth of poverty
(c) Severity of poverty (d) all of the above

11, Marginal efficiency of capital varies
(a) Directly with the level of investment
(b) Inversely with the level of investment
(c)Pmpocﬁmaﬁelywiﬁlewelofimmm
{d) all of the above
12.  Drop out rate is used fo measure _
{a)htenwmiuw_(h)EmmleMrw
(c) Access efficiency {d) all of the above
13.  Uniform costof the student in school comes under
(a) Direct cost (b) Indirectcost (<) Mixed cost (d) Regular cost
14. Whaimhemahreasonofmissqmthbemonmaﬁmammmanﬁ
(a) Shortage of efficient manpower {b) Problems of brain drain
(c)Problunsufadmtodummhmned . )
(d) all of the above :
15, Whidldﬂmfohwilgkﬂ!abestwmwﬂnmsoimﬁom
* (a) GER b)AR - (c) NER , (d) all of the above
16.  Net intake rate means . X
{a)EmnIadhawagedsthga&som
(b)Embdhmbedageothgadione
‘lc)Emnbdhwamdshmmgﬁash :
{d) Envolled in prescribed age of student in grade six
17. Hmnmdevnhplmlihdulsimdndbyﬁu ; :
(a) UNDP (b) Workd Bank ~(c) ADB (d) UNICEF .
18. mmwm.mummmmmmmﬂmﬂh

al?
{a) Al Round National Education Committee
(b) National Education commission . -
(d) High Level of National Education Commission

19, mmmmmdmmhMMM?

Group "B" . ' 8x7=56
Attempt All the questions. ~ . ‘
1. Explain the soci characteristics of developing country
OR

What are the obstacles of economic development?
Explain the theory of surplus values. -
Whndoywmunbypwemmmdﬁmmbomabsﬂmwmymﬂnhﬂvepwm
Exphhﬂnobjocﬂvudmmﬂypoky. ok
Whltmhcpmmudhmuph!hnnﬂon?
Dkﬁwbhwunbahmdvs:ummadgmwm:ppmch.
Mdmhhmothmsdmashdyﬁmnomwmhﬂ?
mummemmdmmmmMonMnmmmm
Whatammemhsofndumﬁonhswilldwebplmm

. OR

it ol

N
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cost of

WMddywmeqnWomomrﬁymMM?wmrmm:Mmﬂ

Group "C" 2x12=24

OR-
Exp!aln!heneadforoduuﬁmﬂphtﬁq.%atmﬂwnwﬂwdshambse’hmssandmiy

in education?
10.  Explain the different methods of ing in education.
: Group "A"
Attempt ALL the questions. Tick (V) the best answers
1. "Acounﬁyispoorbacaunitispoor.'mssfammisof
a. Ragnar Nurkse * b. ColinClark
. c. Simon Kuznet d. AN. Caimdoss
2. Disguised unemployment indicates
a. labour is surplus b. labour is short
c. labour is skilled d. labour is unskilled
3, The last stage of economic growth of Rostow's is
a. pre-condition of take-off b, take-off
c. high mass consumption d. derive to maturity
4. Which of the following theory has been developed by Hirschman?
a. balanced growth b. unbalanced growth
c. stage approach theory d. critical minimum effort
5 Whichdfﬂwfolwhglsmainmofmpialfcmaﬁon?
a. rural savings b. increasing profits
c. increase in per capital income d. all of the above
6. Incremental capital-output ratio (ICOR) is defined as the ratio of
a capial bm
income
© Zonsumpion L~ .
= Development is impossible without
a. incentive to profit b. foreign aid
, c. domestic saving d. foreign investment
8. Which of the following is main sources of human capital formation?
a. medical facilities - b nufrition
¢. education and training ; d. all of the above
5. . Which of the following is an awﬂhfavomofcaphlim:sivehdmiqua?
a. higher standard of living
b. provide ecénomic and social overheads
¢. rapid rate of economic growth
~ d.allof the above g
_ 10. According to Lewis, the difference between capitalist wage and subsistence wage is known as
a, labour surplus b. capitalist surplus
c. capital formation d. marginal productivity of capitai
11, Student loan system is mére appropriate in
a. primary education b. secondary education
c. higher education : d. all of fee ahove
12, Which of the following is hmhﬁcabrdchﬁsnmnbodtmﬁon?
a.AIR E b.GER
c.NER . d. all of the above
3. IN, Nepal national education system plan (NESP) was introduced in
a. 1954 AD . b. 1956 AD
- c. 1961 AD : - d. 1971 AD
14.  Village education plan comes under :
a. micro planning. b. macro planning
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¢ meso planning y d. institutional planning
15,  Private demand for educafion is induced by

a, future prestige b, future earning
' ¢. future planning d. quality education for fufure
6.  In education, capital cost is incurred
" a. construction of classroom b. purchasing of training materials
c. purchasing of textbook d. maintaining of equipments

17.  Cohertanalysis is used for :
a. measure the internal efficiency in education ;
b. measure the external efficiency in education
¢. measure the promotion rate in educafion
. d. measure the repetition rate in education :
18. Eeomnicooﬂmdifmrﬂhmmrﬂwgmﬁ,bscmemeym

a, backward koking only . b. forward looking only

¢. mostly backward looking o, mostly forward looking
19,  Brain drain is also termed as

a, fransfer of technology b, mutual ransfer of technalogy

¢ reverse fransfer of technology d. all of the above

20. Mdﬂufoﬁwﬁghhﬁmﬂheneﬂﬁbﬂwsﬁﬂeﬂtmﬂﬂbh&ufmﬁmﬁmmb

and costs? -

a, employment related benefit

b. residence relevant benefit

c. society related benefit

d. non-market benefit like awareness and skill !
Full Marks: 100 & Time: 3 hrs.
Attempt ALL the questions. ’ : y ;

; Group "B" - 8x7=58

. ExphhﬁwmmdMMwum.
: OR

mmﬂnmummdwmmddwmm?
Exphhmakoymudchssinalﬂmydmrﬁcmmm
Wmhdﬂnmnabmmuphlmmmwﬂwamdwmmm?
Exphhhnoomptdamﬂhdwahpmg;.
Whadoyoumeanbyumhylmﬂﬁphmnvmqpu.
mhmmdmmwmmmmmmw
Emhhﬂwmaﬂuardsmpoéfmmicsdaﬂmﬁnn.
OR
Whatmﬂnpmbhmsonumanresoumedwmﬂhw . ¥
1. Exphhﬂnprmhgahdeanaﬁonandswhlgmﬁdnﬂmhﬂmmmndm“m
of education. . :
8. mmmmemmmdmmw :
_ . : Group "C" : 2x12=24
9. 'cmummmmaumwdwmw?mm_
appmchismonumbhbrdwebpmmﬁompﬂ?
10. thmhonMnmhMGmmeWhmdmm
system in education finance.

(d) Population Studies EEco. Ed. 331)-

: Group 'A B
AuemptALLthaquwﬂnm.Tlcthbosiamn.
1. Theﬁstcmwascarbdﬂhlhpa_lhm...a.s.

rap

2) 1968 b) 1978
c) 2008 d) 2018

2 Which of the folowing counry has lowest Human Development index ?
a) Sri Lanka , b) Nepal
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10,

1.

12,

1.,

14,
15,
18,
1.
18,
18,

20.

-

¢) Bhutan d) Bangladesh

The term fertility is associated with
a) fecundity b) abortion
c) infecund d) actual performance of live birth
Who developed modern Iife table?
a) Frank Lorimer ; b) Alfred Lokta
c) W.G. Backlay AL : dg::hbph e
The Malthusian theory of population presens v on population
a) classical period z b) neo-classical period
c) modern period d) all of the above
Momygbc.P.Bbcku,ﬁuhlghshﬁomshgeddemogaphbmmmmyh
- a) first stage ; b} second stage i
c)thirdstage . : d) fourth stage
The number of population per square kilometre of land Is known as
a) population distribution b)popula&ndem
c) composition of population | d) population ration
Which of the following is associated with human resources
a) education b) money
¢) material goods d) all of the above
Thamwmntufpopuhﬁonhnomphuhlmuwphudﬂnmmmhhmu
a) immigration ; b) emigration
¢) internal migration d) out migration
Thalormuhqf?n?m’.fowmjldingmmh
a) arithmetic b) geomefrical
c) exponantial d) none of the above
Awordhgbmmusoﬂ'ﬂﬂ.hwahpfﬁﬂhhbhwh
" a) mountain region b) hilly region i
c) terai region d) none .
Ammbmzusa.mmymwmmmh
a) 6.3% b) 7.3%
c) 8.3% d) 8.3% - ;
mmummmmd&mhwwbmummun
a)Dolpa - ; - b) Manang .
c) Mustang : d) All of the above
who developed tfie concept of Human Indexy
. a)IMF ' b) World Bank
c) UNDP d) WTO
The value PQL1 ranges from . : :
a) 01 - b)0-100 -
c) 1-100 . d) 1-1000
Whhhufhhlmvchouﬂyhnhhwmof ing people?
a) Maldives b) Sri Lanka
c) Bhutan
T)Iupﬂpuhﬂonm;nnlgvduhbmmlyhhﬂmdu
a) mortality policy b) pronatalist policy
<) fertifity influencing policy d) anti-natalist policy
Thupﬁlwmpoplhﬂon&milwmomdmm between
&) population and resources b) population and industrialization
<) urbanization and resources d) population and qualtty of fife
thhofhfomhhmmtmdofmnbnhunpd?
a) hil to hill b) hill to terai
cR)nnlbunl . d) rural fo urban
apid population growth a constraint of _ .
_ @) econoric developmant " b)cultural development

©) technological development d) social development 2068



Attempt ALL the questions

=1

bl oo¥ od

ol

Attempt all quesﬁom.

1.

10.
".

12.

Group'B' : [8x7=56]
Define demography. Explain its scope. :
Wbmmwmmnmmmmcmnummmmmuwnnm
Rate (ASDR). , :
OR
Deﬁmmiyation.Whatmﬂﬁdemmimofmlmﬁnn?w
Whataroﬂ\spmenﬁveandposﬂhed\edtsbpophﬁm?aphh .
DeﬁneHmnaanebpmert}ndu{HDl).M\atmheonwmms?Explah. . .
Examine the role of human resources in the economic development of Nepal. =

e OR
Ezphhhcunminlsofmnresamdwmmhﬂep&
deoesnpidpopulaﬁenywﬂ\mmﬁuommmmaphh
Explain the role of NGO's in economic development. ;
thkpoptﬂatbnprojuﬁn?WMispoplhbn.pmpchd?Exphh.

; : Group 'C' : : [2x12=24]
wwsmamugmwmmwammmmmmmﬂh
Exphhﬂletﬂlerulmadpoplﬁﬂondﬂa.

OR
wnammnmmmamam.

Exam 2069

Group "A" - 20
Theﬂstsdordlboommeaﬂd_hmpdh
a, 2008 ) © b.2018
€. 2028 d. 1968
Whichdunhlwhgummmuhmdbympal?
a. de-facto method b. de-jure method
©. survey x d. non of the above
Grqﬂnprodtﬂionnh[GRR)hmmmdwﬂ\ .
a, number of male births b. number female births
¢. Numbers of total births d. number of fertile women
mmmmmhmhmmam
.. Frank Lorimer b. W.G. Backey
c.Johngaunt ~ d.Afred Lotka
Wlichotﬂnbhwmmdmbpowhﬁonhﬂuhbh?
a. Positive: b, Preventive
¢. Negative - d. Neufral
mﬂuhmedonwmhhMMofc.P.BhdmmmMmgob
a. second stage b. third stage. :
¢. fourth stage d. fifth stage
Whﬂldmhmmnmﬂuhwddamhbdm?
 a,vital registration system - b. sample survey
. ¢, administrative record - g.mmmﬁvem
Which of the fallowing is O eompommmnmome? v ;
a. physical property b. health services :
c. money o, 5 d. all of the above .
meiﬁhdwolopmf#phnfnnmpdadophdpopmﬂmpoky?
a. third b. fourth i
c. fifth _ d. sixth
The straight line indicate the population projection is
a. arithmetic - b. .
c. exponential - d. all of the above
Ammgbhmdzoss.ﬂ\lmdﬂﬂh
a.3 . b.38

> d. 48

c.4 .
mmcmmmss.mmdmmmmwwmu
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13.
14.
15.
16.
17.
18.
18.

20/

a.423 ' b.433

c.443 v d.45.3 ‘
The Nepaf's density of population according to the census of 2058 is

a. 155 . b. 156

c. 157 ’ d. 158

The value of HDI ranges from ;

a.0-100 “b.0-1

c. 1-100 ; ' d. 1-1000

The population growth rate of Nepal, according to the census of 2058 is
a.21% b. 2.24%

c. 25% d 275%

Life expectancy-of female is less than male in -

a, Japan b. USA

c. Nepal 2 d. Sweden

The main goal of population education is o

a. promote family welfare b. adopt ideal family size
¢. improve quality of life d. adopt small family size
ﬂn_pmmofcomx_uhkhginmpﬂhpubmndby

a. Ministry of Health = - b. Central Bureau of Statistics
c. National Planning Commission « d. Ministry of Local Development
The crude death rate in a population is mainly affected by -

a. nufritional status b. GNP per capita

c. age structure of population d. environmental condition

Thonw,brmsnofhlwnalmiyaﬁmhﬂopalasmpmhdbyﬂmumiﬂilh )

. Ta.trade b. employment

agriculture d. study and training

c.
Attempt ali questions.

1.
2,

Attem,
1.

S Group "B" | 8x7=56
Distinguish between census and survey. Methods of sources of population data, '
Whutisforﬂy?&phhﬂnvmmmmofm, .

OR
Distinguish between Crude Birth Rate (CBR) and ecific F Rate (ASFR
Emﬁnhéﬂmhtvhnonpopu;ﬂnﬁl T g e
OR

Criically examine the Malthusian theory of population

What is meant by Physics! Quality of Life Index (PQLI)? Explain,

What are the causes and consequences of rapid population growth? Explain,
OR

Exphhhnmnsumbchﬂeknpldpoptﬂaﬂongmhmpal
Emhhmngundsex:tuchnofpopuhﬂonlnhmuduobgbdbm.
Ducrbemohportamu!popuhﬁonpmheﬁm
Explain the procass of urbanization -

Group"C" -~ - 2%12=24

wmmmmnhymmamn?mhm.
Whylsihelumnnmerllulhﬁndmbmnmw
OR

Define migration. Explain different types of :

ptALL the questions. Tick (V) the best answers,

The term census refers to the .

a. each and every unit of the popylation

b. few units of the

¢. some units of the population - .

d. most of the units of population )
hNepﬂmlcmthommhde

a. 5 years b. 10 years

c. 15 years . d. 20 years
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10.
i1.
12

1,

14.

15.

16,

1.

18.

18.

1

thhofhafobvfmgmhcaptd?uﬂy’bmhhdwﬁmnhmtiubﬂup«m?

a.CBR b. GFR
c. TFR d.GRR
mammmmmmmdmmmmm
-a, Robert Kuczynski : Frank Lorimer
¢. W.G. Backley d.JohnGraum
The life table is concerned with
a. history of vital svents b, history of population
¢. history of births ‘ . history of deaths

According fo mhnmdmmmmmdmmsmm ;
a, geometric ratio 3

¢. algebric ratio d mmnfﬂwaboun
Awoftﬁ\gbﬂudam:phickansﬁunmwwof!::? . Blacker, the early expansionary stage is
a. First stage c b, second stage
¢, third stage d. fourth stage
Whidimo{nufolwinhammaquﬂyofnh?
a. income b. environment
caste system d. all of the above
thhdmbMthsbhmundmmhMM?
a. increase in employment b. increasa in health services P
¢. increase in productivity d. increase in industrialization. * :
mehb:hphnﬂepahdophdpopdahon policy at first?
a. Third five year b. fourth five year
¢. fifth five year d. sixth five year
Acemdhgbﬂucomoﬂﬂa wmﬁﬂbdhmm
a. 29-24 b, 25-29
115—19
WMMMWMWWdW?
a. mountlh
tﬂwﬂ
Amdngbmuofﬁﬁﬁl the sex ratio is given as
a.998 b.978
¢.968 d.958
who introduced the concept of PQLI?
- a. Arthur Lewis . b. Morris D. Morris
c. UNDP d.WTO
Thommhroimhpuiooomdnhlpopdﬂmbcﬁd
a.sex rate b, sex structure
c.sexratio . d. all of the above
mwmammumwhmma.mmmmmﬂ
population will be double?
a,26 ; ‘ b. 32
(% [ d.34
Thehumndmlopmﬂmm
a. life expectancy b. level of living
e, education d. all of the above
Wdhbm&hmmdmummnmw?
" a, shortage of food b. shortage of facilities
¢. overuse of natural resources d. all of the above
ﬂwuh}dmltmmlplﬂdmmhofpopwﬂunb
a, economics b. geography
¢. sociology d.a

nthropology :
m mnjor cause of internal miqnltlon in Nepal as reported by the census of 2058 is
'b. employment

c.amdyamvainlm d. agriculture
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Attem;

1.
2,

ol o

PNe

Attem,
1.

pt ALL the questions. . :
: Group "B" o [Bx7a56)

Dafhapcpuhhnedwnbn.Whatmitsnbjnﬂvas? : :

quuahbmaondﬂummm-mmmm.

OR
Define fartifty. Discuss its determinans, -

. Exphhmemahuhnﬂmqufmhﬁm

OR

E:q:hhﬂnopmmmmyofpopwaﬁon.

What is quality of ife? Explain ifs importance.

Emhhmomdnpummhmpal.
OR

wasshmleofhumanmdwebpmmhlﬂopal
Emhhdﬂmttmcsquwdaﬁmpnjaeﬁonwﬁmﬂhmm.

. y X GroupC [2x12=24)
mmmmmmam ‘ :
mmmmmawm

OR
What are source of data? mhmmam

i . Group "A" : 2
ptALL the questions. Tick (v) the hest answers, :
mwmmhﬁaﬁgamﬂehdwmwebonmmmmasmh

a. Edmund Helty . ; b. John Grant .

c. William Petty . ' d. T, R. Malthus
Wholscﬂodﬁﬂmo!domwaphy? '
a. John Grant b. Edmund Helly s
c. William Petty d. Achille Guillard - :

Which  of the folowing s not the sources of  population  data
a. sample survey b. projection
c. demonstration : * d. esfimation
mmwmmmdmmmmmhm1m?

a. Mustang " b, Manang

c. Dolpa d. Humia
Amdhqhzoﬁoenu:s,ﬂnmhﬂonmmdmpuk

a. 1.9 percent b. 2,0 percent

¢. 1.4 percent = d, 1.5 percent
Aeeudtqhﬂﬁﬂhsmmhkhufﬂwﬁlm&thsholpﬂpuhﬁonofw

* a.2,66,27,809 b b. 2,85,70,809

c. 3,07,00,000 " d.2,30,50,404

Which of the following mhbbbghﬂcapwm.mmm?

a, fartility ! il

e. fecundity : d. morbidity g

Which of the following Is linked with mmmmmmw

a. children are gifted by God h.ehhnu.wonhirpnnu

<

fmiyphnnhgdomundelyofmln d, children should he dind ’
Human movement into nqmnmfmmadﬁuqmpolhlorcmhbdmofﬂwsm
eoud-yla i ¥

a. immigration . b. emigration
¢, in-migration . d. out-migration
wmchommlowhghmompmmofmymhuepﬂ .
a, hill to hifl . b. hillfo tarai
c. tarai fo taral d. taral fo hii
Whould'pomhﬂonMiuhmhamﬁdtunyW?

a, Malthus b. Engels
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7k

13.

14.

15.

¢. CP. Blacker d.Dalten - .
According to Hmkhaﬂ!yAetﬂ!Lwhbhofﬂwhhwhgishemwm,siudpomﬁunfu
Mahanagarpalika?

a. 100,000 b. 200,000

¢. 300,000 d. 400,000

Which of the following is a negative consequence of urbanization in Nepal?

a. low population growth b. change in occupation

¢, social disparity d. separation of joint family

Which of the following population policy adopted by the eleventh plan regarding TFR?
. a.reduce TFR from 3.5 0 3.0 b. reduce TFR from 3.1 to 3.0

¢. reduce TFR from 3.1 to 2.0 d. reduce TFR from 3.1 10 2.3

Which of the following SAARC country has Jowest life e?;;:hncy‘?
; b.N ;

. a, Afghanistan

¢. Bangladesh ; - d. Bhutan

16. thhdhbhwwhmﬁﬂphysicdmoddhpeoph?
- a,food i : b. housing

¢. fresh air d. security
17.  Quality of life means

a, contented life : b. creative life

c. moden life d. challengeable life
18. The concept of basic needs approach is developed by

a. Hicks and Strenten b. John Graunt

- ¢, Edmund and Petty = d. Gregory King
19. Whhhofﬁufohwhqlosonpoptﬂaﬁondynmh? :

a, lifestyle = b. trade

¢. capital d. birthrate
20,  Vitalregisiration is related with 3

a. population policy b. development policy

c. trade policy ? d. record of important events
Full Marks: 100 ; ' Time: 3 hrs.
Attempt ALL questions. ) ‘ .

‘ Group "B" * - Bx7=56

1. Whatbdonwaphy?ﬁxplalnﬂnnamadumm.
2. Whamwww.
OR :

el

- 0

wmanmdmmmmofmmmdmmhm.
DMm:Mbmmfeﬂymdfocurﬂﬂy. ;

Differentiate between GRR and NRR.
Whatmhgma]ormesofmlgnﬂonhm;l?
0

: mhﬂmdmhﬂw

wnndoywmmhmwoimomhwﬁmﬁmmmoﬂmm.
Whatmmemandwmmm&(ﬂnm Explain briefly. :
Explain the role of human resource dmlopmuﬂineoomuﬂcdwmm.

Elphhlhﬂuseofpopﬂﬂhﬂ projection.
Group :‘c" 2x12=24

cmmmmmum

Whathrzpldpopuhﬂongmmckm)? Exphhttnmoqmmndm’ﬁhmmm
reference to Nepal. - .
Whhwmwmmhm
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Attem
1.

(e) Rural Economics (Eco. Ed. 332)
- -

Group "A" [20]

pt ALL the questions. Tick the best answers,

Which of the following is not frue?

_"a) there are unﬁnitadwanho!walpm

10.

1.

12,

b)hmswmssmmpeophmndhm
c) rural peopladono!u_saresomtesahmaﬂve!y

d) all of the above
Howmarnm!mpohnclﬁumﬂnnhmpan‘ :

a1 ' b)2

c)3 ) d)4
mmmmlmmmmmmumn

a) 81000 mw b) 83000 mw

c) 85000 mw d) 88000 mw
thhofﬂnhlwhgbapﬂm:ymceoﬂumancapm

a) family : b) primary school

c) secondary school d)socisty ‘
thhcfﬂwfolwhgbﬂnbesiway-bcomninpidpopuhﬁonw&?

a) positive chacks bj preventive checks

c) natural checks ’ d) all of the above
Apmnwhodoosmﬂﬂ;ebmatﬂnuiﬂmgmemhbhmu

a) voluntary unemployed b) eyclically unemployed

©) structural unemployment .d)kbﬁunqlunmbgmm
Inhpﬂhuhhmsmphhbwhlha

2) industrial sector b) agricultural secter

c) financial sector d) service sector
thhomofhhbwh\gkﬂnmbrmmo!mpm

ajmaize © - b)wheat

c) millet -d) paddy
mlabmmpmnﬁnphnhhtphmemahmpdfor x

a) 10 years b) 15 years

c) 20 years = d) 25 years
mmmobmawnmmmzothmpmsuhmm

a) productivity of land b}expmionongrhmw y
c)memhh;ﬂmofm d)mutuhbﬂyofwmm
Acconﬂr\gbNopalhvhgﬂndadmeyzoﬂlm,whmwfﬂnfnlwhgmﬁmmhmn
poverty threshold for Nepal?

a) Rs.6696 : b) Rs.7686

. €) Rs.8698 . d) Rs.9696
ThoTernm‘a!dwebpmempmgmnwusMothepa}h

a) 2009 B.8. : b) 2010 B.S.

¢)2011B.5. d)20128.8.
thhufmeblo\mgphminclmdhﬂvoo-ywmmuﬂw

a) GO, NGO and Coopertive b) GO, Cooperative and Private sector
¢) Private sactor, GO, and NGO d}GD,HGBPandeMy- T
Thamlhohjaeﬂvoofﬂimﬂvayearplmwas :
a) poverty alleviation b) employment generation

¢) balance development d) equal distribution of income
mammwnmmmmhum

a) first b)second |

c)forth N dyfith - -
Thcmhobshcbsofﬂmhwdwnbpmnth
a)bwhvatofhumdwcbpmm b)vk:bmciubofpww

<) low level of education *

- d) gender disparity
By the fiscal year 2008/09, the capacity to ganerate slectricity from various projects reached to
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18.

18

a) 660 mw b) 661 mw

2) 0.21% ' b)1.27%
0)221% - d) 3.27%

'_Whichoimofolowhgmoumelsmvammbhhmpan

a) water resource b) forest resource

¢) mineral resource d) all of the above

20.

According to Nepal labour force survey mo&,mobbwrm_opa:ﬁcbaﬁonrah is
a) 83% , b) 84%
c) 85% c d) 96%
Time : 3 hrs

‘Attempt ALL the quastions.-

1.
2

ol o

10.

1.

2

Group 'B' ‘ 8x7=56
What is meant by rural economics? Discuss fts scope.
Explahﬂwdisparﬁuhatweennmland urban areas of Nepal.

i OR
Exphhhmmmeh‘mdmuopﬂ.
Whatlsmeantbynwalbmbm? Highmhthpmspedﬂnﬂncumndmnmep&

; OR ' :
Explain hvammdmmamhmpal.
Dom:mmmﬂwmsdwmlmmdnmlnmalmpﬂ.
Dmmww.wmmﬁhdﬂepmﬂnlw.
What are NGOs? Explain the mhhmmmmmduumnl area,
: OR

mmmm.wmmnmmm? ]
Whltmﬂnohhcﬂvuofhmﬁyomnmmmmpmnmhpokmmmdm
development. i
umuhwﬂmmmmwmmnmmmmmhmdm

projects. _
: Z ; Group 'C’ : : 2%12=24
wmumoamwmi-mmnnmnwdmmmmpmdwmdmm
development? Explain ywrargmentshhm\so!moobpcﬁmoﬂﬂphnmrdhgnnl
development. o

Emhhhm&modmlwﬂ_h&giMunthmmMGMm
w@mmw«mmmmmm-mm*cm

this statement.
‘ Exam 2069

Group "A" o 2

“Attempt al the questions, Tick (Y) the best answers

Whhhdﬂnhmmmmﬂﬂhhmpldnnlmh?

a. rural resources b. mega electricty project
¢. rural economic problem d. construction of rural roads
Whichofﬂnhmw«wum:ﬂhﬂapaﬁ .

a. tropical evergreen forest b, delicious monsoon forest
c. evargreen coniferous forest d. all of the above
wmuhmmtmmhwhmpdumpaﬂ

a. tobacco b. oitseeds

¢, potato # d. sugarcane
wmammmrmumumnwm

a. increase in knowledge b, increase in skills

¢. increase in capachties - d, all of the above
wmammmhmmdmmmwmwmm?_
a, raw materials b. fire wood

¢. shelter to the wild animals d. environmental service
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" 16,

According to the census of 2058, the mm&nhgeofm&ﬁonhwhodhﬂstW

6.
- was,
a.0% b. 65%
d.70% i d.75%
7. Nepalese agriculture is characterized by
a. subsistence farming - b. productive farming
c. marketable farming d. all of the above
8. which of the following bank is directly related fo the rural people?
a. Agriculture Development Bank b. Nepal Bank Limited
- - C.Rastly BanijiyaBan d. Rural money lender
9, Whi:hofhfolowhgisatradﬁonalsoumofag!icummﬁmms?
a. Agriculture Development Bank ) b. Nepal Bank Limited
c. Rastriya Banijya Bank d, Rural money lender
- 10.  Which of the Iolpwhgmatemﬁodouﬂmfvuagricuualcradismaym Nepal?
a. National Planning Commission b. Trade Promotion Centre -
¢. Nepal Rastra Bank d. Central Bureau of Stafistics
11.  According to NepallwmgStandardSumey 2003!54,whichLivhgnfﬂ|ehlawhgisﬁuimidemeof
poverty in Nepal? ; :
a.29% ' b. 30%
€. 31% Find® d.32%
12. * The small area development programme was started in Nepal from
- a. third plan . 4 b. fourth plan :
c. fifth plan : * d. sixth plan . .
13.  After the restoration of democracy in B.S 2045, which five-year plan did Nepal implement?
a. seventh 3 b. eighth
* €. finth . d. tenth.
14,  The monhodmofdavebpmampmgramis related with
a. initial stage - b. final stage
- c.in between the initia and final stage
. d. after project completion v oo .
5. Kamali - Bheri Integrated Rural Development Project was implemented with the financial aid of the
government of
a. Canada b. USA .
c. Sweden : d. The Netherlands
Which of the following institution moriitors the functions of NGOs?
a. Custom Departmant ; b. Social Welfare Council
K c. Home Ministry d. Ministry of Local Development
17.  Outof the total basic crop production in Nepal, paddy shares nearfy )
a. 45% b. 50%
© o e.55% d. 60%
18. Whi:hufﬁwfolowhgpam;ﬁaga is covered by the terai region of Nepal?
- a. 15% o 4 b. 16% =
c.17% : : d. 18%
19.  According to Nepal labour force survey 2008, the employment to population ratio (15 years and
above) of male is <
a B4 ; : b. 86
- c.87 d.88 ) ;
20.  According fo the Nspalhbomfnmsumy 2008, mmrﬂyemalyilacﬁvopqitbﬁond
Nepalis 3
a. 2.1 million b. 2.2 million
¢. 2.3 million ; " d. 2.4 million
Attempt all questions, .
- Group "B" : © . Bx7=56
1. . Define rural economics. Explain its scope,
2.

Examine the importance of rural economics in the context of Nepal,

- OR

What are the economic characteristics of rural Nepal? Explain.
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3. Exmﬁmhmﬂemdwﬂxmmnmthepﬂ.
OR

What is meant by unemployment? Explain its causes. :
_WhmmwmamhmbrmdmnMMMNepm
Whatismeambypmﬂy?Exphhttleemmdm-alpwmthepal. ;
Discussmehmmofpubicpmatepammw{wﬂmmadmbpnmmmum.
OR Fl i

o o>~

Dmm;mnﬂdwohpﬂwmwm%hhwﬂmco?
. Wmmwmammhsdmommphn?m.

8 Describe the objectives, tools and technique of monftoring. -

Group "C" - 2x12=24
9. mwwmmamwmmmnw i
: OR

Bﬁmuwmhdmmhhndwmmmdwebmrﬂoiualmsofﬂupal

10. Exphhﬂteieahnsdundkohmmmﬂzz. )

i

Exam 2070 =
. Group "A" [20]
Attempt ALL the questions. Tick (V) the best answers.
1. Rural economics is concermed wi :
a. rural resources . b. rural population
¢. rural economic problems - - d.all of the above
2. mdmmmswmmmrdmmmm i
a, production b. consumpfion
¢. distribution ; d. all of the above
3, wmwmmmkmwamﬂaﬁth
a. 44,000 MW b. 53, 000 MW
¢. 60,000 MW d. 83,000 MW
4 mmwmﬁmmws
a. physical capital - b. human capital
d. government policy
5 Tomwahemballm,iomtmsmmmmdby
a.35% b. 38%
c. 40% d. 45%
8. mmmmdmmwm .
a. structural unemployment . b. hidden unemployment
¢. frictional unemployment d. cyelical unemployment
7. mmbwhbommamma,mmmmmmmmu
a.15% " : b.2% .
c.21% i : d. 2.24%
8. mummmadwbmwmmmﬂepalis
a. relatives ~ b. land
¢. local money lenders d. rural development bank
8 Whmhofﬂnhlwmigtsmﬂrgansedmofagﬁcumwhmpd?
a. cooperafives b. rural development banks
¢. micro finance companies d. neighbours
10. Inwhichrsgbm,']ﬂatbmus'mpupuhﬁ!m&pal?
a. mountain b. hill ‘
c. teral d. all of the ‘above :
1. mm.dmmmmmnmbwmmndwmq
2003/04 is
a.8% - b.9%
c. 10% : d. 1%
12 mmlmadwabpnnmmhﬂcpalmmmdﬂu
a. 20 district ] b. 21 district
c. 22 disfrict . d. 23 district
13. Nwﬂmmemmpommmmmﬁm«
a. 7% plan b. 8% plan



14.
15.
- 186.
17.
18.

19,

20,

Attempt ALL the questions.

y 7
Z

 Whatis meant by unemployment? Explain its

ol el o

10.

apow

a. before staring project . b.in between the project

c. after project is completed d. all of the above -

Sagarmatha Integrated Development Program was implemented with the financial and of
a.IMF b. Asian Development Bank

<. European Union- d. all of the above

The slogan of Nepal tourism year 2011 is

a, tourism for fogether b. together for tourism

c. land mark tourism . d. promote tourism

How many VDCs are there in Nepal?

a. 3815 b. 3915

c. 3950 d. 3850

Which of the following resources is highly potential in Nepal?

a. water resources . b. forest resources

¢. mineral resuurces d. none of the above i
According to Nepal Labour force survcy 2008, the employment to population ratio (15 years and
above) of female is . ’

a. 77 b.79

c.81 ,d.83 - :
According economic survey 2067/68 the per capital total national expendable income is
a, 560 US§ b. 670 US$ o

. 703 US$ d. 805 US§

Group "B" : [8 %7 =56)
What are the objectives of rural economics? Discuss.

" Explain the subject matter of rural economics.

. : OR . : ¢

How do cultural factors hinder rural development in Nepal? Explain. .

Explain the importance of rural infrastructure hmad@vebpnnriofmlsochxof"!pﬂ.
OR ; ;

Describe the various sources of agricultural credits in Nepzl,
Distinguish between absolute and relative poverty. Which one is more prevail in rural Nepal?
What are the roles of people's participation in rural development in Nepal?
: ¥ OR
Explain the role of NGOs in the development of rural Nepal,
Explain the objectives and priorities of the current plan.
What is evaluation? Discuss its objectives, tools and techniques. .

Group “C" [2x.12 = 24] ]
Explginﬂupmspac!sandpmmsofmralbuﬁsminmcontoxtéfiwmnmemphymem
generation in the rural Nepal,

- 5 OR : :
Exunhocrﬁcaﬂyﬂnmhdmopemﬁvuhhdwahpmoﬂtafmnlammsam. :
What is Integrated Rural Development Approach to development? Explain the effectiveness of its fo

rural development in Nepal. .
] 5 Exam 2071

Group "A" . 20
[Attempt ALL the questions. Tick (V) the best answers,
I Acmm\gbumusnpmzou,whﬂbm&odmmlpopuhﬂon?
a. 80 percent b. 81 percent
c. 82 percent 8 _ d.B83 percent
What is the effect of migration for destination place?
lacking in active population
constraint, in production system
increasing in man and land ratio
possibility of new innovation

139



10.

1.

12.

14.
15.

16.

7.

18.

19.

mmmmmhmmuﬂnumd
: b

a. manufacturing production

Wihat is the target of annual average economic

a. 5 percent
¢. 6 percent -

. agriculture production
d. service sector

¢. industrial production
Inwhi:hu(ﬂufohwhgareaumapal,hpmporﬁonuimah popuhﬂonhhwmtamuh?
a.urbanarea - b, rural area
c. subsisterice area d. remote area
Whichoimefomsgwmdpmerhcaladmihmm
a. petroleum b. solar power
¢. water resource d.wood °
Whatismomahptoblmdmalmimhuopal? :
a. lack of geographical diversity b:hekdrmanhnai
¢. lack of rural infrastructure d. lack of suitable climate
_AcconﬁngbNepalivi\gstmdardsmay2010!11,ma_hhquforoepamcba&mmoulepalis
estimated as ' .
a, 80 percent b. 83 percent
c. 86 percent : d. B9 percent
wrw\dﬂnfoWhgismmahrcmpofNapal? :
a, paddy * b, maize
¢. wheat d. barley
memwemagodhmuwwhﬁofaywbkmnas
a. disguise unemployment b. seasonal unemployment
¢. skilldess unemployment d. fractional unemployment
Land reform is related to :
a.imigationplanning b. cultivation planning -
¢. fragmentation planning d. land use planning
mardhghundRoformAd,2021,w1tﬁofﬁwfomﬁ\gbcmﬁ,\alﬂomlﬂ)hﬂuw
region? '
a.20bigha b.25bigha
¢.30bigha : *d. 35 higha
Which of the following is plan holiday year?
a.2021BS . b, 2046BS
. c. 204883 d. 205188 '

. 13.Amﬁlgtoﬂepalivm-standaldmay201w1-1.wtﬂhmmuuldmmymmdp«ywb
mhizhnﬁhmmmmlﬂ'd? 3
a.Rs.18261 b. Rs.19261 P
c. Rs.20261 5 d. Rs.21261
'FuMdhasbmodsismth ;
a, subjective poverty b. collecting poverty
¢. absolute poverty d. relative poverty
wa-nmammmmmﬂmmwwh
a.2030 BS b.2033BS
. 2036 BS d.2038 BS

b, UNESCO
d. Robert Chamber
growth rate of current three years interim periodic -

b.5.5 percent
d. 6.5 percent

mammummmdmm

a. private sector
c. International Monetary Fund

b. World Bank

d. Asian Development Bank

Which of the following is the maa;\soh\'mlmamialmﬂdhllepan

- a. debenture

c. freasure bills

b, fixed deposit certificate
d. all of the above
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2.,

Karnali - Bherl integrated rural development project was implemented with the financial aid of the

government of

a. Canada b. USA

c. Sweden ) d. Netherlands
Full Marks: 100 . Time: 3 hrs.
Attempt ALL questions.

1.
2.

Group "B" Bx7=56

Give the definition of rural economics. Describe its subject matter.
Explain the socio-cultural characteristics of rural Nepal.

OR= - -
Explain the problems of land resource utilization in Nepal..
Describe the problems of rural unemployment in Nepal,
Evahihﬂlomdnndpmdﬂonshaﬁmofmjorunpsouym.

OR

' Explain the role of co-operative in Nepalese rural agricuture development,

N

10.

Attempt ALL the questions.
<) the best answer,

Tick (
1.

Whynnlmdlbwimpummmefmnan&phh.

- Exphhhmdhwpoﬂnmnuofhﬁkmhmkasﬁmpmmom
OR :

Shhthsmagnludeandlmidoncoofnnipwcﬂyofmpal
Explain the determinants of human resources development.
nwmmmmwwmwmmmmmm.
Group "C" : 2%12=24
What ara the role of plan in economic development? Are Nepal's development plans devoted fo
rural development? Give your opinion. :
OR

Whaldoyoumnhymm?mmhhmmdmmdh
nmmm-mdmmmhmdmmhmm

development, i a

Gm“p "A" 20

Which of the following is not the objectives of rural economics?

a. fo study of the structure of national economy

b. to study of the social structure of rural area

c. to study of the economic structure of rural area y

d. o study of the institutions of rural area ;
Whlchnfﬂnlolowims‘zaofpopmaﬁonbrequmdfw'A'gadeVDChNepd?
a. 4000 - b. 4500 “ ¢ 5000 d. 5500
Amﬂhgmﬂopalmhgswﬂuﬂsumyzowﬂ,hwnmhhammmmw
out of the fotal households?

a, 71 percent " b.72 percent c:73percent  d. 74 percent
wnuwmmmm:mmm:mmmamw

‘a. institutional presence b. illiterate society

c. gender discrimination d. populations pressure
Whichdl'ihefnlowhgehmentstnwshhighpmspec!ofviagebmhndwehﬁmﬂdﬂapan
a. tour package b. tourism infrastructure

c. internal air service d. geographical diversity

What is the major cause of deforestation in Nepal?

a. discrepancy in land use b. tourism infrastructure .
¢. increasing encroachment to forest d. soil erosion : 3
According fo Nepal living standard survey 2010/11, out of fotal consumption the richest 10 percent
consumes

a. 30 percent b. 33 percent c. 35 percent d. 38 percent

Which ofﬂ\ofolnﬁxgsadorhﬂiys&ppoﬂshnnimmnﬁdwebpmantofﬂopal?

a, agriculture b. indusfry I
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¢. service ' d. manufacturing industry
9. Which of the foliowing element does not fall with in the scope of rural economics?
a. construction of rural read b.industry-
¢. mega electricity project : d. rural mineral proiact
0. Which of the following is the unorganized source of rural credit?
a.finance company ~ b. co-operatives
. c. rural development bank d. money lenders
11.  What is the cause of rural indebieatiess?
a. ancestral debt b. migraticn
¢. commercial crop d. abuse of debt
42, The major problem of rural market of Nepal is .
a. lack of efficient manpower b. indusiry
¢, presence of middleinan : d. unorganized settled
13, Which of the following is aways use channel for agriculfure frade?
a. between frading agent and consumers b. between retailer and consumers

c. between millers and consumers d. between farmers and consumers

14,  According to Nepal labour force survey 2008, the lahour force participation rate of aged 5 to 14 of
Nepal is as estimated : 7
a, 30.9 percent b. 33.9 percent c.369percent  d.39.9 percent

15. Therehthapoorarﬂmwhnsewm\ah
a.Iesslhanoneﬂviddﬂ\enaﬁomlaveragab.lessﬂ\antwothidofﬂmnaﬂonalavnrage :
¢. less than half of the national average d. equal to the per capita national average

18. Amtﬁ\gtocensuszuss.vmatisﬂmawragosizeoffmiyinﬂepal?

a.42 b.48 .52 d.58
17.  When was the first illage development jrogram’ started in Nepal?
a.2009BS b.2017 BS ¢.20128s d.2033Bs
18.  Which of the following is the indicator of human resource development?
a. accumulation of human capital b. participation of human capital
¢. stock of human capital . d.all of the above
19. Whonwasﬂmenationalplannhgmnkcbnsstabhmthapal? .
a.2020 BS b.2023BS 'c.2025 BS d.2017BS
20.  The annual economic growth rate of three years inizrin plan of Nepal is as esiiinated
a.3.2percent - b, 3.5 percent ¢. 3.8 percent d. 4.2 percent
Attempt ALL the questions. :
‘ Group "B" 8x7=56

1. Wlsnn’aleconmy?&q:hhhob.beﬁvasdnﬂamhani:. i
P I Exphhﬁwimoﬁnwdhrsﬁmhmmmtdavmm
: OR A
Explain the prospects of village tourism development in Nepal.
3. Whatismbymed’?mlyseﬁwmdnnalummphymm
4.  Describe the features of Land Reform Act, 2021.
: ' OR
s wmmdmmammmm.
5. Statethe rural debt relief measures in Nepal. .
6. Shieﬁnpuwkbmdpwutyalaviﬁonhmﬁplan.
OR
Dascrbeﬂnmpsofﬂ\lplanimubﬁnnptmhﬂépal
T Exphhﬂnsnbgiasmmbtﬁesofummmm
8. Exphhﬁaob}wﬁvesofmnbimandwamﬁondunldwmngmﬂ. S
- Group "C" ) 221224
9. Whaiismtalh{mmmre?ﬁxphhismlehmlmmmicdwmwﬂ.

OR
Point out the major problems of rural agriculture marketing and suggest measures to solve them.
10. Whaihmmdmaldwebpmemmme? Explain its objectives and impacts.

142





